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f:A>B f A B
22 A B A B
f A X B f(x) X
f[A] A f
f:A—>B
(0] ( ) A a & ard f(a) = f(ae)
f(a) =f(ae) a=a
(ii) f[A] =B
(B A )
(iii) ( ) f
f’l
f’l
( ) y =X
(i) () ( ) X2> X1 f(X2) 2 f(x0) ((F(x2) > f(x))
(i) f(x) ( ) X2> X1 f(%2) < f(x0) ((F(x2) < (X))
AY y =10x) Y
\wf(x)
A
0 X1 X2 r X 0 l X1 X2 > x
f(x) 1 f(x)
f g f+g f-g fxg
fig ( X g(x)=0)
f:A>B g:B->C f ¢ gof:A—>C A X

gof(x) =g(f(x))
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(b)
(© X o

(d)

sin? §+cos’f= 1
tan? 6+1 = sec? 0
cot? §+1 = cosec? 6

@

Sin(A £ B) =sinAcosB £ cosAsinB
cos(A = B) =cosAcosB¥sinAsinB

tan(A + B) — tanA + tanB
17 tanAtanB

a(f(x))

x+1

2
sin2A = 2sinA cosA

C0S2A = cos’A —sin’A
=2cos? A -1
=1-2sin?A

1-tan?A

sin3A =3sinA —4sin®A
c0os3A = 4cos® A — 3cosA

3
tan3A = 3tanA —tan° A
1-3tan?A

©)]
sn2A_-Llq_cosp)
2 2

cos2A =114 cosA)
2 2

2
sinA :i2 cosA =1=t
1+t 1+t2

4
SnA +sinB= ZsinA—erBcosA—EB

sSnA-sinB= ZCosA—JZrBsinA—;B

A+B A-B
2

COSA + cosB = 2cos COoS: 2
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COSA — cosB = ZQnA—fdn%

sinAcosB:%(sin(A +B) +sin(A —B))
cosAsinB:%(sin(A +B)—sin(A - B))
cosA cosB =%(cos(A + B) + cos(A — B))

sinAsinB:%(cos(A - B) - cos(A + B))

acosx +bsinx rsin(x+a) r cos(x + /)
25
loga X =y x=a¥ a>0 azl
X log x f(x)
(logyex)?  loge(L+ tanx)
f(x) =logg x a>0 a=l
(i) f(x) x>0
(i) a>1 f(x) O<a<1 f(x)
i) b c>0 b=l loggc=129C
logp a
(iv) f(a)=logga=1
(v) f(®=logal=0
a X
fx)=a a>0 a=zl
i) fx)
(i) a>1 f(x) O<a<l f(x)
(iiiy fO)=&a"=1
0]
f(x) =logg x a>1 O<a<1
(i) a>1 O<a<1
0] Iim[l+£j =e
Xor X
(i) lim@+h) =e
X
(i) tog,x = [ Lo
1t
(i) loge X
f(x) =logg x a>0 a=l

i) )+ =f(xy)
(i) f00-fy)=fC)
y

@iy F(x")=nf(x)



g(x)=a" a>0
) gx+y)=9(x)-9(y)

i) gx—y)=2X
o)
i) g(n)=(g(x)"
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